Why did the League of Nations fail to preserve peace in the inter-war years ?

Why was the period of the 1930s called a period of appeasement ? 

1. Big powers didn’t play a role

· US Senate rejected the Versailles Peace Settlement and the League of nations in 1920

· Russia was Communist and joined only  in 1934)

· Germany joined the League of Nations  in 1926 under Stresseman (but left in 1934)

2. Most powers were weak in 1929 because of the Great Depression

· Great Britain preferred to use Locarno Treaties to solve their problems 

· Great Britain had domestic problems in Ireland (IRA)

· France had domestic troubles 

· The League had no military forces of their own. The League of Nations lacked teeth.

· Extreme right-wing countries of Japan, Germany and Italy became very strong.

3. The 1930s were called an age of appeasement because the western democracies 

did little to check the growing aggression of Japan, Italy and Germany. 

Japan 

3a. Japan made huge gains from the Treaty of Versailles.

3b. Japan invaded Manchuria and set up a puppet state called Manchukuo

3c. The League of Nations sent a committee called the Lytton Commission to 

      investigate the nature of Manchuguo

3d. The Japanese retained control of Manchuguo and advanced into north-eastern   

      China.

3e. They withdrew from the League of Nations and signed the Anti-Comintern pact 

      with Germany in 1936.

3f. After the 1937 Marco Polo Bridge Incident, open war broke out in China.

     The Second Sinn-Japanese War had begun. (i.e. World War Two in the Eastern 

      theatre)

Italy

      4a. Mussolini was a fascist and wanted to make Italy great, respected and feared.

      4b. At first, Italy co-operated with the western democracies.

      4c. They participated in the Locarno Conference (1925)

      4d. He cultivated good relations with Great Britain and supported Britain’s

            claim to Iraq (in return for a small part of Somaliland)

      4e. Mussolini bolstered up Austria against the threat of Nazi Germany by

            supporting the anti-Nazi government of Dollfuss.

      4f. When Dolfuss was murdered in 1934, the Duce sent 3 Italian divisions to the frontier 

            in case the Germans invaded Austria. This move improved Italian-French relations 

            but Mussolini was growing impatient.

      4g. When Hitler reintroduced conscription in March 1935, Italy, Britain and France 

            condemned Germany and guaranteed Austria’s independence in the Stresa Front.

      4h. When Britain signed a separate treaty with Germany (Anglo-German Naval 

           Agreement), Mussolini became even more convinced of British cynicism and self-

           interest.

     4i.  Mussolini began to move closer to Hitler

     4j. Italy invaded Abysinnia in 1935 (Italy suffering from depression)

            (Mussolini wanted a victorious war to unite and distract the nation)

            (provide new market of Italian exports)

    4h. The invasion of Abysinnia was a test for the League’s idea of collective security.

    4i.  The League condemned the invasion and applied half-hearted economic sanctions                       

          which were later abandoned (which excluded coal and oil)

    4j. Mussolini moved closer to Hitler and dropped his objections to a German takeover of 

         Austria.. Hitler took advantage of the preoccupation with Abysinnia to send troops in 

         to the Rhineland 

   4k. When the Spanish Civil War broke out in 1936, Mussolini opened supported Fascist 

         General Franco.

    4l. Italy finnaly signed a Full alliance with Germany (Pact of Steel); May 1939
         Promise of full military support if war came.

Germany

5a. Hitler withdrew Germany from the World Disarmament Conference and the       

     League of Nations in 1933. He insisted that Germany would be willing to disarm if    

     other states agreed to do the same.
5b. Hitler signed a 10 year non-aggression pact wit the Poles in 1934. The world was 

      convinced of Hitler’s peaceful intentions.

5c. The Saar was returned to Germany in January 1935 after a peblescite resulting in

      a 90 percent majority. Hitler announces that all grievances against France has been 

      buried.

5d. March 1935 – Hitler reintroduced conscription and built 36 divisions (600,000 men)

      His excuse was that Great Britain had increased its air force and France had extended

      The conscription term from 12 to 18 months.

      The Stressa Front (Italy, France, GBR) condemned the action but did nothing.

5e. Anglo-German Naval Agreement (June 1935) broke up the Stressa Front.

     Hitler promised that the German navy would be limited to 35 per cent of the strength

     Of the British Army.

     Hitler increased the army to 51 divisions (800,000), 2000 aircraft, 21 battleships, 

     cruisers, destroyers 

5f. In March 1936, Hitler gambled and sent troops into the demilitarized zone of the 

      Rhineland. The treaty of Versailles and Locarno were torn up. The troops had orders

      to withdraw at the first sign of French resistance. Hitler offered the French a peace 

      treaty to last for 25 years.

5g. In 1936, Hitler reached an agreement with Italy called the Rome-Berlin Axis Pact.

      Anti-Comintern Pact with Japan (later joined by Italy in 1937).

5h. Germany helped Franco in the Spanish Civil War and tested out their new blitzkrieg 

      tactics.

5i. March 1938, Hitler unites Germany with Austria again (Anschluss)

     Austrian Chancellor Schuschnigg tried to start a plebiscite.

     Hitler decided to invade before the plebiscite.

     Britain and France did no more than protest.

5j. Hitler marched his soldiers into the Sudetenland, Czechoslovakia.
     (3.5 million Sudeten Germans; 70 percent of heavy industry; impt. Forts)

     Czechoslovakia are willing to go to war.

     French Prime Minister Daladier and British Prime Minister Neville Chamberlain     

     held a conference in Munich. [Munich Conference] to appease Hitler.

     At the meeting, they agreet that the Sudentenland would to the Germans; Italy, Britain, France would 

     guarantee the Independence of the rest of Czechoslovakia.

     If Czechoslovakia resisted the occupation of the Sudentenland, they would not receive

      help from the allies if war broke out.

      “I believe it is peace for our time”: Chamberlain.

5k. Slovakia demanded semi-independence.

      Hitler pressurized President Hacha to request German help ‘to restore order’

      March 1939 German troops occupy the rest of Czechoslovakia.

      Britain and France protest but technically there was no invasion.

      It was an invitation.

5l. April 1939, Hitler demanded the return of Danzig and a road and railway

     across the Polish Corridor.

5m. Hitler signs Non-Aggression pact with Russia on 24 August 1939
       Russia would remain neutral if Germany went to war..

       There was also a secret agreement to divide between the both of them.

5n. Britain and France continue to guarantee Poland’s independence.

5o. Hitler took it as a bluff and invaded Poland on 1 September 1939

      World War II in Europe had broken out.

Why Appeasement ?

a. Economic crises and pacifist public opinion

b. Many felt Italy and Germany had genuine grievances.

c. League of Bations was helpless. Neville Chamberlain believed the best way to settle disputes was by personal contact and good relations and trust.

d. Fear of communist Russia. Many believed they could use Germany to check communist expansion.

e. USA was isolationist France was weak and divided; Britain was weak and unprepared for full-scale war.

